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* The parameters of a cylindrical helical compression spring for a
tooth-inserted clutch are as follows: spring outer diameter D=36mm,
spring wire diameter d=3mm, effective number of coils n=>5, the
spring material 1s carbon spring steel wire (Class C), its og=1570MPa,
[1]=0.565=785MPa, G=82140MPa, the maximum working load
F...x=100N, the nature of load 1s Class II, try to check the strength of
this spring and calculate 1ts maximum deformation A,,. The
maximum working load F,,=100N and the nature of the load 1s II,
try to check the strength of this spring and calculate its maximum
deformation A
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As shown in the figure, this is a V-belt drive. The diameter of the driving wheel d; =
360 mm, the diameter of the driven wheel d, = 180 mm, the wrap angle a; =
210°, a, = 160°, the equivalent friction coefficient between the belt and the wheel

fy = 0.4, and the belt tension Fy = 180 N. Question:

(1) When the driven wheel needs to overcome the resistance torque T, = 20 N - m,
what phenomenon will occur when the driving wheel is driven by a sufficiently large
motor?

(2) What are the tensions on the f
tight side and the loose side at this time?
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Design of a belt conveyor drive system used in the first stage of the ordinary V-belt drive.
It 1s known that the motor power P = 4kW, speed ni = 1440r/min, transmission ratio 1 =

3.4, 8h per day work;

« (1) ZBVHEOFTRFL LY,

Select the belt type of the V-belt and give reasons;

* (2) HERVF T SEafe A RELA DR LGS Aay;

Determine the center distance a and the reference length L of the V-belt and
the wrap angle a on the small pulley.
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